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(v) 38 Y93 ol Ued o faw 15 fime &1 oy foon o 8 | weAuw o foawor qate @
10.15 S5 fopam ST@ | 10.15 ST & 10.30 &S b BT hddd II-93 ol Uell 3T 39
3rafy & G 9 IT-YIEIHT W HIg IR & for@ |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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(i) I8 J97-97 Giel @S] 5 [Ayf5q 8- @ue &, &, M, 90q & /

(iii) @UE & H Y97 &1 1 & 12 7% Fglashedid (MCQ) YHR & UH-Ud 37% & Y97 & |

(iv) WIS @ 7 Fo7 &7 13 § 18 % Tg-IH1¥ (SA) JHR & FI-§1 3Pl & Fo7 & |
J3F Y97 HT I 50 Jed] & 37feeh 787 5147 =130 |

(v) U T H I3 G&IT 19 T 23 TF JH-370F (LA) IHR & AR-°AR 3H & J97 3 |
Y% Y97 &7 I 100 551 G 371 787 F147 =0iaT |

(vi) TUE T H J97 G&IT 24 T 26 TF TRV, HigT a9l THITT-STIRT T97 & |

(vii) @WUE & F J97 &7 27 G 30 7% FH-3709 (LA) YR & Bg-Bg HH & J97 8 /
JiF J97 HT I 170 F55] & 371e% &7 517 =TT |

(viii) Fo7-T7 § B3 TII [FhcT 781 & | TET F& T § Ak [FdHcT BT Jae/ 77
T B | 37 I9H1 4 & T Uk 81 FIT HT I [o7ET ST |

(ix) 3G% 3R, Y% GUE U5 Jo) & GI9, g a9 5, a5 R 1w § |

©us <h

7 &I 1 & 12 T TFlashedid (MCQ) J#R & Uh-Uh 7% & Jo7 & |/ 12x1=12

1. &l foehed TRt a1 QU HINT

o N O
EICIENGIICIEE| |

(a) Hifowd T i HRHE I & Ag@ta o

(b) FH % GIAAE] TA o TLATIH o

(¢c)  dfeaHl U Q21 6 Teh a1 o

(d) @ifoa o9 5 guri 1 folig @ aret T At o
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(i)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E - Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

59/1/1

Choose the correct option to complete the sentence :

Mikhail Gorbachev was

(a)  General Secretary of the Communist Party of USSR
(b)  the founder of the Communist Party of Russia
(c) a leader of Western European countries

(d) aleader against reforms in the USSR
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& faehed IRt aTe QU HIfT

e f&m |

(a) TSHIfdeh 3Teid o1 (b)  HTEhIdeh TG o
(c) WM ATgia o (@ TS SAeeH o

frafeifad o @ -t GeT S-S ToNi sl ek o1 hIH Hdl 2 ?
(a) |IH TS HHATIIHRR ST

(b) T g YL qig

(c) ATREH

(d) T g

et § & ShiH-|1 Teh dfvdeh e & ot @ 787 © ?
(a) oA aiuT (Sfeaes amatg) (b)) STAUSEE SAaHRdTg
(c)  wHgMINE! (d) el himd

faffga # 9 -8 S wieo & g1 § T8 g ?
G)  yaiar 1 faeard Afgeaes aoifa <1 3 8 |
(i) WA W UH geeH 1992 H fi-El-smia § smfoa ga o |

(i) EIH USCHH 3 TATSROT HIRIhAl 1 FaTc IH TS¢ HHATIHR ST
=l Hiq feam g |

(iv) 9t HFHTH I STRISH g U5 gRT foham T o |

gt faered gHT |
(a) (1), (di1), (iv) (b) (@), (1), (iv)
© @), (D), (ii) @ (), (ii), (iv)

FEfciRad § & hIH-91 Toh AvdTehiul ol T&F AU B ?
(a) EIH USCHH 1 A

(b) 8 Srenfiehl 1 g

(c) Towa deh <l T

(d) 9Rd AR =T ° releewr F A
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e
Choose the correct option to complete the sentence :

Arab Spring was a

(a)  Political movement (b)  Cultural movement

(c) Social movement (d)  Environmental movement

Which one of the following organisations works to prevent international
conflicts ?

(a)  United Nations Human Rights Commission
(b)  United Nations Security Council
(c) ASEAN

(d) Amnesty International

Which one of the following is not a threat to global security ?
(a)  Global warming (b)  International terrorism

(c) Epidemics (d)  Rising prices

Which of the following statements about environment are correct ?
(i) Environmental concerns are part of the global politics.
(ii) A conference on environment was held in Rio-de-Janeiro in 1992.

(iii) The UN has assigned the environmental programmes to UN
Human Rights Commission.

(iv) The Earth Summit was organised by the United Nations.
Choose the correct option.

(a) (1), (i), (iv) (b) @), (i), (v)

() (1), (d1), (i) (d) (i), (i), (iv)

Which one of the following is the main cause of Globalisation ?
(a)  The formation of United Nations

(b)  The development of new technology

(¢)  The establishment of the World Bank

(d)  The rise of economy in India and China
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7. Tafafea fashedi § @ 9Ra % qail o TSAT e 99 9T
(a)  3FEH, HIUIY, BTG
(b) WYX, By, Armeive
(c) FAEvs, dlllléus, 3AEUsS
(d)  worgR, wERre, fosE
8. A QU HH % 7T TE faeheq g -
YRA TR o Taayiy ASH1sT i i fifd % €9 T AT |
(@)  Tefor fererm (b) Tufsr srefemaean
(c) EHSETRg d) i
9. 1974 § U & gSAT ol ATEM fehem foparm o 2
(a)  STIYRII TR (b) S HAEH
(c) T HAIE Sl (d RS <ETg

10. Tr=fciRad I FrespAHER =afed Hifu
(i)  Urferea 3 YR H Harerel gEifer 99 |
(i) G Jegeell SIHHIH HT THR-HATTH S |
(iii) USITe HHEd W a3 Tefia el 3 gearer fhe o |
(iv) STHLHTHI Uk oEft e off |

Tal forehed T |
(a) (@, (), (iii), @v) (b)  Gv), (A), (i1), (ii1)
() (@v), (1), (1), (iii) (d) @G, 1), Gv), (i)

11. F=afafea & @ fofa gam o= 3 gdvay vyra o onfde guwi i yeeTd i 2
(a)  sfeu e
(b)  Tig TiEh
(c) | HEd &g
(d)  F% PAR TS
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7. From the following options, choose the set of States that belong to
North-East India only.

(a)  Assam, Manipur, Chhattisgarh

(b)  Manipur, Tripura, Nagaland

(c) Jharkhand, Nagaland, Uttarakhand
(d) Manipur, Maharashtra, Mizoram

8. Choose the correct option to complete the sentence :

Five Year Plans were adopted by the Government of India as a policy of

(a) planned development (b)  mixed economy

(¢) socialism (d) industrialisation

9. Who gave a call for a nationwide Railway Strike in 1974 ?
(a) Jayaprakash Narayan (b)  George Fernandes
(c) Ram Manohar Lohia (d)  Morarji Desai

10. Arrange the following in the chronological order :
(1) Pakistan sent tribal infiltrators to Kashmir.
(ii))  Sheikh Abdullah became Prime Minister of Jammu and Kashmir.
(iii) The Punjab Accord was signed by Longowal and Rajiv Gandhi.

(iv) Jammu and Kashmir was a Princely State.

Choose the correct option.
(a) (1), 1), (1), (iv) (b)  @Gv), (1), (i), (ii1)
(0  @Gv), (1), (1), (ii1) (d) (@), (), Gv), (iii)

11. Who among the following was the first Prime Minster to start economic
reforms in India ?
(a)  Indira Gandhi
(b)  Rajiv Gandhi
(c) Manmohan Singh
(d)  Inder Kumar Gujral
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FRU (R) ZRT 37fd 197 797 8 | 57 FI1 #1 &917 & 90 IRk 19 77 77 fasbeqr
(@), b), (c) IR (d) T @ 3T & &7 7 gg7 fdcq T |

12.

13.

14.

15.

16.

17.

18.

59/1/1

H1YHIT (A) : W5 1977 H, ST Ul hl TR 4 =L J.H. W@ & Aqea |
T i< SN ol g R |

FHR (R) : AR k1 sfeq et SRR grT v ST9TdeRTd o hRON <kl
Sire o fore fgeh fopam = o |
(a) TP (A) 3 SR (R) THT T@l & 3 ST (R), AR (A) hI
g TS KLl = |
(b)  SATTHA (A) 3T HRU (R) THT T &, T RV (R), AT (A) H
&l AT FgT Rl 7 |

(c) AR (A) HEl B, g BRI (R) TAd 7 |

d) REa (A) a8, T SRV (R) T 2 |

TUE @
‘sTfeRm et 1 fopegl af AUl fRINarsti sl IR HIT | 2x1=2
fehegl g1 3TN <h! TERIAT § TIYH TS h! Ik I A | 2x1=2
QR e Shi AT I | 2
gl =r &fiT oo & 9m fafae, Sen o =9 4 ot 1ot TR
T A | 4x==2
Hed AN I fohegl g1 fawien i ITFR T | 2x1=2

Yd H ugell fief-Seft sehr (Tedyd & weRr) fha av § st R
a1 ? 1+1=2
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For Question number 12, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (a), (b), (c) and (d) given below.

12. Assertion (A) : In May 1977, the Janata Party government appointed a
Commission of Inquiry headed by Justice J.C. Shah.

Reason (R): The Commission was appointed to inquire into the
reasons for declaring Emergency, by the Indira Gandhi

Government.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

SECTION B
13. Highlight any two important features of the ‘ASEAN way’. 2x1=2

14. Show with the help of any two examples, the strength of the United
Nations. 2x1=2

15. Explain the term ‘Security’. 2

16. Name any four regional parties which have ever formed their government

in any State. 4x é =2
17. Highlight any two recommendations of the Mandal Commission. 2x1=2

18. In which year was the first coalition government formed in India and
why ? 1+1=2
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19.

20.

21.

22.

23.

24.
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Qus 1

GfE® (UNICEF)’ 1 q01 €9 ffaT qem 36k I3 &l i [oIiay |
I qeh STaA T SRellhtul < U feheal g1 SwTal ol forgetwor iy |

Teheh THIGHT o T < I3 al 39T ST |

TRA-39IA Gae] bl fopeal IR fosiwarst hi samean hifSu |

Tt g o foru sfew wiel gr 331U MU fopgl =R shedl sl I9TR HifNT |

wis Y
frfafad sTaaw sl eamgEs afet 3Tk = feu Tu st & 3T i |

1+3=4

2x2=4

2x2=4

4x1=4

4x1=4

4x1=4

““ % WU gU g 7 WRA & Aaqrell H g &F 6t earera feufa % ufa
gad foRaT | STT-9eAT Td ITcI=q 3faehiEd B o ik, T8 &F 9Nd &

THE TS TEEAT 3T TSI ceh TehdT o oTT AT Tgad oL T o1 |7
() Tr=fafea & 9 ®H-A1 TS, @GR &1 5T 787 8 ?

(a) TR G (b) IATEUE
(c) WA @ B
(i) F=faied § § SE-A1 U9, IRA-H g & HRU g8 e Jurfad
73T ?
(a) 3H (b)  HNTATE
(c)  3TEUTHA Y; (d) fafomm
(i) F=fIfegd § ¥ SF-E1 TsF, YRa-SH g & gL a1¢ QERR § Tied
forat T o ?
(a) TS (b) 3™
(c) TaformH (d) TS JW
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20.

21.

22,

23.

24.

59/1/1

EEE
O}k
SECTION C

Write the full form of ‘UNICEF’ and state any two functions of it.
Analyse any two effects of globalisation on your daily life.
Suggest any two measures to conserve the natural resources.
Explain any four features of India-Israel relations.

Highlight any four steps taken by Indira Gandhi to remove poverty.

SECTION D

1+3=4

2x2=4

2x2=4

4x1=4

4x1=4

Read the following passage carefully and answer the questions that

follow :

4x1=4

“The war with China alerted the Indian leadership to the volatile

situation in the North-East region. Apart from being isolated and

extremely under-developed, this region also presented India with the

challenge of national integration and political unity.”

i) Which one of the following States is not a North-Eastern State ?

(a) Arunachal Pradesh (b) Uttarakhand

(c) Meghalaya (d) Tripura

(i)  Which one of the following States was affected the most due to

Sino-Indian conflict ?
(a) Assam (b) Nagaland
(¢) Arunachal Pradesh (d) Sikkim

(iii) Which one of the following States was created in the North-East

just after the end of Indo-China War ?
(a) Nagaland (b) Assam

(¢) Sikkim (d) Arunachal Pradesh

Page 11 of 23
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(iv) H-HT TeHIae g, YRA-9H Ig o qid a1 Adieh Haug &M

s formrfed gam ?
(a) Tad 9Tt
(b)  HIUH 9Tl

(c) HHYHEE 9l AT ghea

(d) SHE"

HRA o [¢U 7T TSI [@I-AFEE (T8 13 W) H IR TSAI/h5-[0ad &=
F @A), B, © 79 O & gr 3Afha foban T 3 | T & T8 THFN o AR
W T TSAI/heg-IMTad &A1 <l gg=a hifog R 1ot IT-gfeaert o g9 adl
I, T hl T8 STHR] shl HA-TEAT a1 AHrs | fear mn gefia s1ew, fi=

4 TS drfereRT o ®9 § fafEn
TN <hl T8 JH/ | AEfaT § fea
&1 SHH-TE T Gl 318 s =l A

1)
(i1)
(iii)

(iv)

1)

(i1)

(iii)

(iv)

I8 TsT o8 gsd AT & 37e987, .01, HSd &1 gre-y o |

g TSI & S5 FH 9rel o 3O g8t TR 418 |
I8 heg-IMfYd & fSEeRt e 2019 1 fomam T o |

g TSI &l ¥ gfag =7 HH USHI{deh el 1 367 53T |

Page 12 of 23
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Which political party got split just after the Indo-China War due to

internal differences ?

(a) Swatantra Party

(b)  Congress Party

(c) Communist Party of India

(d) Jana Sangh

In the given political outline map of India (on page 15), four
States/Union Territories have been marked as @), ®B), @ and D).

Identify these States/Union Territories on the basis of the information

given below and write their correct names in your answer-book along

with the respective serial number of the information used and the

concerned alphabets given in the map as per the following format :

1)

(i1)

(iii)

(iv)

Serial number of the | Concerned alphabet Name of the
information used given in the map State

1)

(i1)

(iii)

(iv)

The State to which the Chairman of the Mandal Commission,
B.P. Mandal, belonged.

The State where Bahujan Samaj Party formed its first

government.
The Union Territory which was constituted in 2019.

The State from which the political party Dravida Munnetra
Kazhagam originated.
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qig:  HEIEd J9 Fa FIRAAT TGHTAAT & o7 Fv7 GEIT 25 F T W

26.

59/1/1

(25.1)
(25.2)
(25.3)

(25.4)

o

g:

IS G UTEl % FEAT9eh a1 sl AW fafey |

WRA o T8el I-HAE Jam T i 9 2

TS TN o qeded, ot.ui. dsdd, WHd & fhyg TS 9 Hefed o ?
2019 | TorH Frg-TTTHT & 1 T34 foRam T o1 2

Sl

(1)

TRl 3T 3T 919 -8 Hi1e bl <301 @I & ?

(a)
(b)
(c)
(d)

o

N c ~ o o
(AR ITH HTH dlHcA SciH

o

< ~ (& N
(Al 2SI ATHh dH UEd

o o

N C - o
[T ZIMH 3% dlHA g%

o

¢ ~ o (o
[ AL ZIRTTH HATS dHA gcdH
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26.
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4
(25.1) Name the founder leader of the Bahujan Samaj Party.
(25.2) Who was the first Non-Congress Prime Minister of India ?
(25.3) B.P. Mandal, the chairman of Mandal Commission belonged to
which State of India ?
(25.4) Which Union Territory was constituted in 2019 ?
Study the cartoon given below and answer the questions that follow :  4x1=4
I I
(1) The tiger sitting on the right-hand side represents which
organisation ?
(a)  Liberation Tigers of Tamil Eelam
(b)  Liberal Tigers of Tamil Estate
(c) Liberation Tigers of Tamil East
(d)  Liberal Tigers of Tamil Eelam
Page 17 of 23 P.T.O.
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(i) 1983 % &g it U I wu faiRea o & fopm W smaia o 2
(a) GTHR g UsHIfas Tifda & g dgwma
(b) HTHR GRI &l TSR < si< HewTd
(c) HTHR gN &l &Rl < oft= Hawr
(d) TR G gl o o= YeuE
(iii)  oficiet § FoN o 9R H F=Afdfed § § SH-81 %99 7 8 ?
(a) WA 36 THEN ¥ T Tl AN RIS FEqerd T foha |
(b) YNA 4 TIH USCHT H THEA §A i hl hal |
(¢) 9Ra A ficiehT & T TH AHeid W e fobu iR aue &
THIYH § WA g3 |
(d) EEY % SH, R 3 ST & Y A9 ToHdsh qey arg iy |

(iv) SIS 9T T3 <l & ?
(a) et i TR WeR fotidh gHi TIei o o9 Fqe sHH | 9%d
sl

(b) QHI I ThR h foeg o |
(¢) |LHR A gHI TSR o |y A9 SR foham |
(d) —RER fqUeh A1 el % sfte HqeM ST 98d hicd o |

Fig:  [AElgd J99 F9c GRS Ghemdai & 170 Jo7 G831 26 % T R

g: 4x1=4
(26.1) #ficten | Tu % &g o |
(a) @& wHGE
(b) 1 &
(¢ < guf
d) o feemamst
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(ii))  The conflict in Sri Lanka from 1983 onwards was based on which
of the following ?
(a)  Discrimination by the government between political parties

(b)  Discrimination by the government between two
communities

(c) Discrimination by the government between two regions

(d)  Discrimination by the government between two religions

(iii)) Which one of the following statements about Sri Lankan crisis is
true ?

(a) India did not interfere in the crisis and kept away from the
problem.

(b)  India asked the United Nations to resolve the problem.

(c) India signed an Accord with Sri Lanka and got involved in
the solution to the problem.

(d) India snapped its diplomatic relations with Sri Lanka
during the crisis.

(iv) What message does the cartoon convey ?

(a)  Sri Lankan government managed to balance the two rival
groups.

(b)  Both the groups were against the government.
(c) The government treated both the communities equally.

(d) It was very difficult to maintain balance between the two
rival groups.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4dx1=4

(26.1) In Sri Lanka, there was a conflict between ___
(a)  two communities

(b)  two regions

(c) two religions

(d)  two ideologies
59/1/1 Page 19 of 23 P.T.O.



(26.2)

(26.3)

(26.4)

27.

28.
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ﬁ%

1989 §, Wd 3 sficteht § 39t o, F=fefea # ﬁ fohg Teh A9 o
JF=ard WSt ?

(a) W 3 &qg

(b) WA IMeq TAT

() W™ 3l gd

(d) afEdr S IR B

SficTehT <1 BT o Toeg o1 aTel afial @ o TYg 1 AW fafay |
(a) YR afbs

by fog (w@dds.)
(c) dffcd B SHIShH!
(d) aHA IS e

eNl o STeNg, Hierent | |
(a) oI glg R Torehrd Ted o
(b)  ItferaEen ¥ fiwrEe gof &t

(c) SHEEAT U gig Tl ohl

(d) =IYR ¥ firgae e &

Qe e

Oifea 99 o faged & v Iaterh frdl = sron 1 favam
?*E”?"Q | 3x2=6

AT

‘e f{?;fr[’ ¥ T S\|:| + I(;h"é\[ a ob|J\Ui\i qYg1 s9 3{i<.i\|(’|"| %+ fgb"ﬁﬁlo ‘ﬁ

giuTHT <61 fogersor KIS | 4><1é=6

WAAdl % 96 AN o @AY s TRl dM gAIfGAl I IR

i | 3x2=6
sreraT

oot fmadt (Warel) = YRa 99 I i § TR deavyls 9ed
S Y{HeRT IR HIT | Teheal 19 IS0 sl TEE@AT | 310 3L ol
EERECAIE 3x2=6

Page 20 of 23




27.

28.

59/1/1

(26.2)
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In 1989, India sent troops to Sri Lanka, named as :
(a) Indian Peace Groups

(b)  Indian Peace Keeping Force

(c) Indian Peace Workers

(d) Indian Troops for Tamils

) Name the group of Tamils who fought against the army of
Sri Lanka.
(a) Indian Tamils
(b) LTTE
(c) Tamils for Democracy
(d) Tamil United Front

In spite of conflict, Sri Lanka has registered ___
(a)  risein its economy and development

(b)  fall in its economy

(c) rise in the population

(d) fall in its trade

SECTION E

Analyse any three reasons responsible for the disintegration of the
Soviet Union. 3x2=6

OR
Analyse any two reasons for the beginning of ‘Arab Spring’ and any

two outcomes of this movement. 4x1 é =6

Highlight any three challenges faced by India after independence. 3x2=6
OR

Highlight the role of Sardar Vallabhbhai Patel to bring the Princely
States into the Indian Union. Support your answer with the help of

any three examples. 3x2=6
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Evaluate the strength of European Union as the most effective
regional organisation on the basis of any three facts. 3Ix2=6

OR

“Despite various problems, the people in all the South Asian
countries share the aspiration and support for democracy.” Justify

the statement with any three suitable examples. 3x2=6

Analyse any three reasons for the dominance of the Congress Party

in Indian politics during the initial twenty years after

independence. 3Ix2=6
OR

Analyse any three reasons for the declaration of Emergency in
1975. 3x2=6
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